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- EE poults) Each of k jars (labeled jar 1, jar 2, - -, jar k) contains m white and n hliad? L
balls. We perform the following exchanges: :

St

Step 1 "‘Wﬂplckslmultaueausly and at random a ball from jar 1 and a ball from jar 2. 'Ih_;n
switch these two balls.

Wit wkmm‘-ﬂtﬂ-ﬂﬂﬂﬂﬂl}' and at random a ball from jar 2 and a ball from jar 3. Then
switch these two balls.
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1 We El’slmulta.nﬂnusly and at random a ball from jar k — 1 and a ball from jar k.
Then switch these two balls.
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2. (40 points - :
the fﬂlIDWi)ngS ‘ippﬂse we have a biased coin and a fair 4-sided die. Let us perform

Wo-step experiment:
Step 1: Toss the coin once.

"S_.i':ep 2: If the coin toss r
tail, we roll the die twice.

Let us consider the following two events:

esults a head, we roll the die once; if the coin toss results a

A = {the maximum of the die roll(s) = 4}

B = {the total sum of the die roll(s) = 4}

Assume that the event A and B are independent, what is the probability
H ¥ lﬂiq:ﬁthﬂstep 1 is a head? rhon o 2 bead , wa bave the pouibb

.‘-' A 3
7

1 ol fug reontty 4 kead § S ool 31,23 4 il and
B AR e [ (8). e ity 44
Beba l;q ;) Pc"q {::,* c®) R - e lave e r bl
:_-_ R : !'#. -'fplfz nls Te,D, vy, LY 3
CLha), 12,120%2),(2,3) (3, 4)
03012, t32), 3, 3) (34, 4, 1>,




v P(A0B): P(A) PeB)
Ap-[Z-2p) [2+hp) |/
re)= ¢ '

L 3 B AR

-
} 3 ;
i :

? | ""‘# TR LT )

------
T



